
Correction des exercices sur les types structurés

1. typede f s t r u c t {
char nom [ 3 2 ] ;
char prenom [ 3 2 ] ;
f l o a t s a l a i r e ;

} employe ;

void promotion ( f l o a t augmentation , employe ∗emp) {
emp−>s a l a i r e += augmentation ;

}

i n t main ( ){
employe e n t r e p r i s e [ 3 ] ;
s t r cpy ( e n t r e p r i s e [ 0 ] . nom, ”Doe ” ) ;
s t r cpy ( e n t r e p r i s e [ 0 ] . prenom , ”John ” ) ;
e n t r e p r i s e [ 0 ] . s a l a i r e = 1900 ;
s t r cpy ( e n t r e p r i s e [ 1 ] . nom, ”Renaud ” ) ;
s t r cpy ( e n t r e p r i s e [ 1 ] . nom, ” Al i c e ” ) ;
e n t r e p r i s e [ 1 ] . s a l a i r e = 2200 ;
s t r cpy ( e n t r e p r i s e [ 2 ] . nom, ”Herbert ” ) ;
s t r cpy ( e n t r e p r i s e [ 2 ] . nom, ”Bob ” ) ;
e n t r e p r i s e [ 2 ] . s a l a i r e = 2300 ;

promotion(& en t r e p r i s e [ 0 ] ) ;
}
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2. typede f s t r u c t {
double x ;
double y ;

} po int ;

typede f s t r u c t {
po int o r i g i n e ;
po int d e s t i n a t i on ;

} segment ;

segment ∗ c ree r segment ( double x1 , double y1 ,
double x2 , double y2 ) {

segment ∗p ;

p = mal loc ( s i z e o f ( segment ) ) ;
i f ( ! p )

re turn NULL;

p−>o r i g i n e . x = x1 ;
p−>o r i g i n e . y = y1 ;
p−>de s t i n a t i on . x = x2 ;
p−>de s t i n a t i on . y = y2 ;

re turn p ;
}

void l i b e r e r s e gmen t ( segment ∗p) {
f r e e (p ) ;

}

2



3. s t r u c t c e l l u l e t {
i n t va lue ;
s t r u c t c e l l u l e t ∗ su ivant ;

} ;
typede f s t r u c t c e l l u l e t c e l l u l e ;

void nouveau ( c e l l u l e ∗premier , i n t n va l eu r ) {
whi le ( premier−>su ivant )

premier = premier−>su ivant ;
c e l l u l e ∗ n c e l l u l e ;
n c e l l u l e = mal loc ( s i z e o f ( c e l l u l e ) ) ;
i f ( ! n c e l l u l e )

re turn ;
n c e l l u l e −>next = NULL;
n c e l l u l e −>va l eur = n va l eur ;
premier−>next = n c e l l u l e ;

}

void l i b e r e r c e l l u l e ( c e l l u l e ∗ c e l l ) {
i f ( c e l l −>next )

l i b e r e r c e l l u l e ( c e l l −>next ) ;
f r e e ( c e l l ) ;

}
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4. typede f s t r u c t {
unsigned nb mots ;
char ∗∗mots ;

} sequence mots ;

sequence mots ∗decomposer chaine ( char ∗c ) {
sequence mots ∗ s ;
char ∗p = c ;
unsigned nb char = 0 ;

s = mal loc ( s i z e o f ( sequence mots ) ) ;
i f ( ! s )

r e turn NULL;
s−>nb mots = 0 ;

whi l e (∗p)
i f (∗p == ’ ’ )

p++;
e l s e {

s−>nb mots++;
f o r ( ; ∗p && ∗p != ’ ’ ; nb char++, p++);

}

i f ( s−>nb mots == 0)
return s ;

s−>mots = mal loc ( s−>nb mots∗ s i z e o f ( char ∗ ) ) ;
i f ( ! s−>mots ) {

f r e e ( s ) ;
r e turn NULL;

}

p = mal loc ( nb char + s−>nb mots ) ;
i f ( ! p ) {

f r e e ( s−>nb mots ) ;
f r e e ( s ) ;
r e turn NULL;

}

f o r ( unsigned i = 0 ; ∗c ; )
i f (∗ c == ’ ’ )

c++;
e l s e {

f o r ( s−>mots [ i++] = p ; ∗c && ∗c != ’ ’ ; c++)
∗p++ = ∗c ;
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p++ = ’\0 ’ ;
}

re turn s ;
}

void l i b e r e r s e quenc e mot s ( sequence mots ∗ s ) {
i f ( s−>nb mots ) {

f r e e ( s−>nb mots [ 0 ] ) ;
f r e e ( s−>mots ) ;

}
f r e e ( s ) ;

}
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